
50 SX MINI 2012 <2012><EU><6001L5>
CLUTCH COVER

11220

Pos Part Number Description Additional Text Quantity

1 45230001044 CLUTCH COVER INNER CPL. 1.00

2 58030020100 oil plug cpl. M24x3 1.00

3 0770191015 O-RING 19,00X3,00 NBR 1.00

4 45230025000 CLUTCH COVER GASKET INSIDE 1.00

5 49030090000 DOWEL 9,8 X 7 X 10 FS-E 3.00

6 45230027000 CLUTCH COVER GASKET 1.00

7 45230026000 CLUTCH COVER OUTSIDE 1.00

8 0025060086 HH collar screw M6x8 TX30 1.00

9 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00

10 0025060606 HH collar screw M6x60 TX30 1.00

11 0025060206 HH collar screw M6x20 TX30 3.00

12 0025060256 HH collar screw M6x25 TX30 3.00

13 0025060306 HH collar screw M6x30 TX30 1.00

14 0025060356 HH collar screw M6x35 TX30 1.00

15 0025060506 HH collar screw M6x50 TX30 1.00

16 0325080300 CYLINDER STUD DIN6325 8X30 M6 1.00


